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STAT 1450, Quiz #8, Fall 20

Instructions: Show all  work
you use your calculator,

1. When testing gas p
pumps and found
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Either use the formulas or the calculator to nduct the hypothesis tests. l f
both your input and output screens.

ps in Michigan for accuracy, fuel-quali ty rcement special ists tested
t L299 of them were not pumping accu (w i th in  3 .3  oz .  when 5  ga l ,

were accurate. Use a 0.01 signif icance to test the claim if  a
t ive that less than 20% of Michigan gas pu are inaccurate. From the

sumer, does the rate appear low enough?
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the Weight Watchers diet for one year th
deviation of the population is o=4.9 lbs. a
an weight loss is greater than 0. Based

ve? Does it  appear to have practical signif ic
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